18 (%)
BB BRA —AgY
ERNE
Z |[BaxE®H 60
= BEEX(FH) 70
'g KHiE B 6
KbiE FiE 7

4+ —
LS 206
B BRI TF 20
£ |EE 1
= B EE (Hvh) 65
B |gozxz 40
th A 10
# |[HOoKEGERIY) 15
¥ |[hoERS 5
2 FLLLVF (RTAR) 0.5
7 |pALEE 1
BALIZAIZK 0.8
Y55 1
FRETFov T 5
EOLLSRP 35
(LR AHR—=F 3
FHE 2.5
=B 0.8
FELOAUYS 0.45
Big 0.1
SiRE 0.15
| 0.1
TAXRA 1
5 30
AHHL 25
Ep5Y 20
AB 5
(LR R—JLa—r 7
EALLSKW 2
BEE 2
=} 1
;| 0.5
WYBRIFE 500g 1




48 (H) 58 () 68 (JK) TH(KR) 8H (&)
#II% Bad —AZY | |#iusa Bmdb —AZEY | |#is Bmd —A&Y | |#zsa Bmb —A&Y | |#iIa =4 E —AZY
FXRHE FRHE FKRHE FRHE F®RHE
i =AY 50 (B [HEEX(EEE) 60| (= |HEXR(B®) 68 (£ [&HE/ 50| (R [HEEX(EH) 68
/i =D aYAN s0| |£ Bk (B 70 % HEEkER) 75 #'J} 0117 TANY 50| R [mEk(E®R) 75
< //\ KAiE %;% 6 xam{b K 0.3 J¢ # xamib K 0.3
. |4 206] |”  |KRMIE FEFE Ligys = 206/ | ROLOF d
% 5 |FE 206
4+ |[MAEAC 30| | |4EL 206 4 |BA 9- KL (2x2m) 150 [ [&EL 206
2 |FUFUYA 25| |1% H 7S a—rIL—4754 NMO| (3, [EBe B EAL (2 x2em) 10f |®
BOEFER 30| (A [4EA(@2Xx2emRTAR) 30| |[L |7y a—ror—5754 th50 BAESHE 1| 1A% |EREE (3 x 3emR S R) 30
A ook GEmRY) 10| [~ |PhRE 3| |P |fttasl A—y— 1| B [R—ar GEm) 0] [\ [BE 1
= Az 15 B2LIZAIZK 08 :Il () EBEY—2 10] [A [RLECoALE(2om) 35| |0 [mEECehiig(2om) 70
A [EmH5m) 35 ;:, CE 1., § EOEER 5 |2 |poEzz 40
o |BaLEE 05 EOLLSH 25 |5 [sLodA 3| |z [Az 15 |3 |pEcaceo—) 20
2z s eR—F 3 g [ZiEHE 1L |HEEs 1| |l Ll 5 | |AZ 15
| |EOL&LSK 18| | |IEShAE 17 {1 |RCEER 25| | |HSHH 0.5 (RTERE 5
7 |[FEravyA 06| |& [AEWL 25| |4 [ADEEIFU/289H) 10| ¥ |B355H 15| [ [H35H 1
2 |&E 05| | |AB 5 (7 |AB 71 [ |1\a— 2| (O [EBOL&SW 3.7
LS 003| A [&EE 1| |7 [tz 5| |# [nEH 35| = | 1.7
= [z 00| £ [cxm 05| [1 [haz 5| || [EmEn 20/ U [&& 0.1
& ? [EoLse 2| |, [Eaz 2l |y [E2U=4 i 2 10
Ao |AE 22| [T [LBE%E 1. [EEL LA 3 |z |[EExIA 06
¥ |Z93Y 20| |7 |BiE 02| | |k 100| |4 |BIE 0.3 iAW) 20
5 |WRECHHE 7 A A l2LES 0.05 AHHOL 25
& |paEDIRLYILY 45 Ry LR/\L GET) BBk 1| [+ [z=h=r(e5@E-43EAY) 30| [+ |[B—=uUT 0.1 AB 5
B EE (Bhvh) 20 5 1\ t21) 0.5 EH 26 (BhH) 1
£ | EIEhIIY—L 10 A=A YT— RFAR 23 f e % 55 BEOLLSR 1.2
f:_f AB 7l e E)t5+)— 50
= FLlbhsd Gvh) 04 |5 FrRy 20
- Yo 1NN Ep3Y 20
B Bif 0.3 (LOEHMA 15
J] ZL&> 0.03| |t BEE 1.5
I EOLELSK 08| |# H$S545 1
Ls (LR ABR—F 3 [ LB 0.8
FELaAUYA 03| |Y B 0.3
ThRA 0.2 ! L&D 0.02
| 0.1
b 100




11H(A) 128 ) 138 (K) 148 (K) 158 (£)
k4 B4 —ABY | |#ze BR% —AN&Y | @z BR% —A&Y | |#izs BR% —ABY | |#is BER% —AZY
FXRHE FRHE FKRHE FRHE F®RHE
% |BAXEHR 60| |2 |#EEk(EEE) 60| | [HEX(BR) 68| [t [2y/Sv (LA 50| X [HEXK(FEEE) 60
- [BEXEH 0| |# |[EExE®) 70| | [k (ER) 75| | 3y ) 50| = [HEEXK(EEE) 10
B [xnz =n o | [xmz =5 of |V [sxatek 0s| |7 % lxaz Ew 6
KHE Fi 1| |, |kHE B 7| |4 EE=] 206 kHiE B 7
LS | 5 |FE 206| |y #
g, |45 206| (5 |4E 206 =[BT 60| |z, |&EL 206
A & |EE M- EL (2 x 2cm) 12| (/% AN A=Y Sk - iR $180
A |[TEXY 25| |RA BP9 (3X 3mRTAR) 20| (% (389 bb- AL (2% 20m) 8| || |z 25| LV [GRLvbLEAE B 11v40
U [EE 1 |~ |BLEER 0| [ |EE 1|7 [BOLssw 15 [P [ LbLBE B §150
& [AEEGY 5| |E [ 20| B |[gBeE@ a0 1l |1 [av4 o| |V [ttam o—y— 7
f.'; BALEZE 05| |5 [pEBeAvE@x2m) 25 g BUEER 5] 2 [cass 0.2 ;'J)\ EOLLSH 25
g; B3LIZAIZK 05| o [E==x 5 |y |AB 10| |5, |& 4l | | LB 4
F |¥ZFH 1 |_  [RTEkT 5 () EPVAIFA 7] |~ g |[#YA 12
y  |ROEEE 30 (LR)R—La—> 5| |p#  [FLLLEFRFAR) 18 [y 30| |x |BALEE 0.2
Yy | EooKkEERTY) 15 |4 |r=bkE 5| |F |EOLLSW 34| | (A 5| (B |TASRA 0.2
I Az 10| |2 [B5LIZAIL 05| [f0 (=B 19] | - 5 2
2 [hErE 5 INEE Y9 55 [ &t 03| B [~r—=> Gam 7] |
R kb= 3| [P [y355m 45 BIYEE 7=UF 15 |4 [whou—ra—y 2] [P [z03Y 20
g |[FLLE (5020 05 ;’: AL—1) i 8 2 60 1;5 (LR)R—ba— 8 ;) AHPL 25
w |LEH 2| |z |[HT5H 3 |= N |BTEEE | |7 |AB 5
o |EOLLSH 25| |4 |(LB)BBR—TF 3 |l XY 20 -, [AB 5 FRLEH 05
F LRBSR—=TF 3 |5 |PRE—=Y—R 3 |y | AEBL 25) |,x |232Y 05| [gn |BALLSW 1
L |FExravvA 03| |4 |[ERESHE 2| |~ [KfFFLHDY 1.2 || Y55 08| |F
v | BiR 0.08 FRET Ty T 2| I’ | BOLELSKW 12| |7 [(LRABR—F 3| | K [GR) ki FAvE 10
¥ T FeyS 15| [N [LAamDY—Z 1] |@ o [FErauus 05| B [Az 7
e o1] B [BOLSH 1| [ [@Euczay 0 |? [ 05| [®  [@FLxRE 5
5 |cEm 0.2 )LJ\ FoUR i 17 é cLES 0.04 (&) AHER 05
z  |TASA 1| |7 |[BiE 08| [ [LLADMAE 125 | |[3=vR8—F 1 (B EPVAIFA 5
% 15 |1 [SL&S 0.04| [z Z  |FEA4I 20 HSF 1
 |[FEUaVYA 05| |o b 70 BEOLLSR 25
935y 2| |~ B 90| |{@ a IR 1.2
A£HL 25| |F E=y I (1B) F—X (8&381t) 13,5 HYA 0.5
A 5 XLV 3l [~ ~ oy 3 0.2
BARBELYL Y 45 AT A (L E£>3m) 15| |P 2 K 20
= 1)) I
EpdY 15 & >
AS 5 |_
Lh)R—ja—y 7 F
RERCERL YLy 45 I
z
(B MEAYF—EUE 8




198 () 20H (7K)
A Bmdb —A&EY | |#zs Bmd —AHy
FRHE FKRHE
3 |auxisy 50| |X [HEX(EE) 60
[ ED A 50| |S  |[HEX(EHE) 70
~ % lxnz zm 6
5 43 206 Kk Fit 7
4 |BRELH(Ex3InRTAR) 20 ;FL 4% 206
7, |R—av(Em) 10
(B KEKE 12| |lE  |BEIE(3X3mRS5AR) 45
B [BEEECHALE (2em) 45| A |BaLEE 1.5
ll/ BUEER 45| [P [BBLIZAIL 0.2
e AS 10 i EOLESK 4
[ (hTEkE 5| |5 [&E 1
Ly | LB 1
Z  (BARESHE 2| | |BYA 0.5
EOLLSK 1| |&x  [U35H 1
h =B 0.6 BRUEER 40
7 |FERLavvuA o5/ |7 |zurEhvE 10
7 |(aL—8 03| |~
Y |mE 03 /”3 (A 5B Gvh) 25
5 [ELs> 0.03| |- migT 7
&g & 20 FYZ Alzel 7
CIFES (EFSHE) 12
3 FrAY 20 AS 5
| 7285462 15 hia¥ 3
7 Az 5 BOLESW 2
’If (LR h—)La—y 7 ais 0.5
MAEDELYI LY 45 BiE 1
HYA 1
(E)3a—F Lk st 70 BIVET LA 3
HLE®H 1
& 100




